Given below are two statements :

Statement I: Mp, Naik's presumption that he could place an order for materials worth
Rs.25 lakh was right.

Statement IT: Perks and reputation of the conglomerate were the reasons for My, Naik

joining the eucalyptus pulp malking company.

In the light of the above Statements. choose the most appropriate answer from the options

oiven below :
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[Question ID = 2435][Question Description = 200_08_Commerce_SEPT22_Q100]

- Both Statement I and Statement IT are correct

Fo (1) 377 (1D =1 #7817 |

[Option ID = 9737]
2. PBoth Statement I and Statement IT are incorrect

2 (D) =7 (1) 5F1 =8 =4 2 |

[Option ID = 9738]

3. Statement I is correct but Statement IT is incorrect

F29 (1) TF1 2, =1 F9F (1) 779 £ |

[Option ID = 9739]

4. Statement iz incorrect but Statement IT is correct

Fo (1) Ted B, Wi Fad (I0) 9951 2 |

[Option ID = 9740]
Topic:- GP_29SEPT22_SH2_S1_A

1)

The following table shows the percentaze (%) distribution of number of students qualifving an
Entran[fe Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifiing from School G 1n 2020 and 2021 are 90 and 135. respeciively. Based on the datain

the table, answer the gquestions 1-5:

Scheol-wise Dhstribution of Qualified Students

School Distribution (%) of Qualified students
2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 12% 15%
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2020 021
A 21% 23%
B 14% 8%
(& 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
(& 12% 15%

The percentage of the number of students gualifving from Schools A-G together in 2021 with
reference to 2020 1=

2020 1 G H 2021 7 A-G Tt @ 5wl et faenfaEi 61w #1 wiewd o 2 7

[Question ID = 2586][Question Description = 101_00_General_21_SEPT22_Q01]

1.

2.

3.

4.

2)

140%

[Option ID = 10341]
126%

[Option ID = 10342]
135%

[Option ID = 10343]

112%

[Option ID = 10344]

The following table shows the percentaze (%) distribution of number of students qualifving an
Entrance Exam from seven schools A-G 1n the vears 2020 and 2021. The number of students
gqualifying from School G in 2028 and 2021 are 90 and 135. respectively. Based on the data in
the table, answer the gquestions 1-5:

Scheol-wise Dhstribution of Qualified Students

School Distribution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
(& 12% 15%




Freefefiar anferan &
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T R e -aE e

EE e ST T A (%)

2020 021
A 1% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 158% 16%
F 9% 13%
= 12% 15%

The percent rise in the number of students qualifving from Schoeol D from 2020 to 2021 1s

-
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[Question ID = 2587][Question Description = 102_00_General_21_SEPT22_Q02]

1.

2.

4.

3)

60 %
[Option ID = 10345]
63%
[Option ID = 10346]
68%

[Option ID = 10347]

T2%

[Option ID = 10348]

The following table shows the percentaze (%) distribution of number of students qualifving an
Entrance Exam from seven schools A-G 1n the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table. answer the gquestions 1-5:

School-wise Ihstribution of Qualified Students

School Distrbution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
(& 12% 15%
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2020 021
A 1% 23%
B 14% &%
C 16% 11%
D 10% 14%
E 18% 16%
F 8% 13%
(&3 12% 15%
Number of student qualifving from Schools E and G together in 2020 is % of the

number of students qualifying from School B 1n 2021,

e B 3 G 3 2020 § 361 Fenfden £ 5o o= fEmem B 3 2021 9 360 FentdEn & a5
fepAs Ui 2 7

[Question ID = 2588][Question Description = 103_00_General_21_SEPT22_Q03]

1.

2.

3.

4.

4)

158.5

[Option ID = 10349]
247.5

[Option ID = 10350]
3425

[Option ID = 10351]
312.6

[Option ID = 10352]

The following table shows the percentage (%) distribution of number of students qualifying an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table. answer the guestions 1-5:

School-wise Distribution of Qualified Students

School Distributian (%) of Qualified students
2020 2021
A 21% 23%
B 14% 8o
C 16% 11%
D 10% 14%
E 18% 16%
F 8% 13%
G 12% 15%




T A B a9 2020 3 2021 ¥ A-G He fEEveE | e e 8 S5 EEndeE 6o ae F
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2020 021
A 1% 23%
B 14% 8%
C 16% 11%
D 10% 14%,
E 18% 16%
F 9% 13%
& 12% 15%

If P and Q@ are the average number of students gualifying from Schools B, € and D in 2020
and from Schools E. F and G in 2021. respectively. then @ — P is

Tiz 7 2020 H Fene B, C 1 D # &R a9 2021 ¥ fo=medi E. F &0 G 8 360 i) &
FHa: P#N Q B, @1 Q- P a7
[Question ID = 2589][Question Description = 104_00_General_21_SEPT22_Q04]
1.
32

[Option ID = 10353]
2. e

3b
[Option ID = 10354]
3. 38
[Option ID = 10355]
4. A1
[Option ID = 10356]
5)

The following table shows the percentaze (%) distribution of number of students qualifving an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table. answer the gquestions 1-5:

School-wise Distribution of Qualified Students

School Distrbution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 80
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
&) 12% 15%




Aoy A@ere ® a9 2020 33 2021 9 A-G oW FEne @ wEm wiE 8§ S|l FEndE 6 wen #
T = wiEeE (%) T T 2| e G H 2020 @7 2021 ° I EEE o w5 00 310
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A= FHM TR A (%)
2020 021
A 1% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 12% 15%

The ratio of the number of students qualifving from Schools B. € and D in 2020 to that of
Schools E. F and G1in 2021 1s

faemem B, C &0 D @ 2020 H 39 [o=miaal = @ea & a9 2021 § e E. F & G | 349

TR &1 T | A o 6 ¢
[Question ID = 2590][Question Description = 105_00_General_21_SEPT22_Q05]
1. 23

[Option ID = 10357]
2. 51:75

[Option ID = 10358]
3 82

[Option ID = 10359]
4. 2533

[Option ID = 10360]
Topic:- GP_29SEPT22_SH2_S1_B

1)

Teacher *A’ uses chalk and board and dictates notes to students in classroom. Teacher ‘B uses
Videoconferencing tool and LALS for providing digital rescurces. Which modes of teaching are
uzed by teacher A and teacher BY

s

AT A FAT H ATF AN T (FE) FITEF FAA & AW DEl F A A28 o A
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[Question ID = 2591][Question Description = 106_00_General_21_SEPT22_Q06]
1. Both online

;\.";AH'JH ‘?r

[Option ID = 10361]
2. Both offine

;-.._,J ::.



[Option ID = 10362]
3. Teacher —A: online : Teacher — B : offline

HATE A’ AH 59 ; AAF B AF A

[Option ID = 10363]
4. Teacher — A: offline : Teacher — B : online

HEATF A’ ATF A FATF B o1 @
[Option ID = 10364]

2) Which of the following tools can be used for ICT enabled teaching?

1341 4. gatda ssay & fou Fefafaa § @ $99 @ 390 & @ S awar e v

[Question ID = 2592][Question Description = 107_00_General_21_SEPT22_Q07]
Paper charts

FOTS F =2 (TEEn)

[Option ID = 10365]
2. Physical models

Hifae ulaey (d1sa)
[Option ID = 10366]

3. Projector

gafr (ursaEe)
[Option ID = 10367]

4. Black Board
TAH-TZ

[Option ID = 10368]

3) In the context of MOOCs in Higher Education in India. which of the following are

CORRECT?

{A) They are learner - centric

(B) They can be delivered only through SWAYAM portal

(C) Thev can benefit large number of learners

(D) They can be accessed anytime. anywhere and any number of times.

(E) ATl MOOCs are for earming eredit

Choose the correct answer from the options g@aven below !
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[Question ID = 2593][Question Description = 108_00_General_21_SEPT22_Q08]
1. A&DOnly
A A €L D
[Option ID = 10369]
2. C&DOnly
Fg C & D

3.

4.

4)

[Option ID = 10370]
A B & E Only

FaAA BHAT E

[Option ID = 10371]
A C &D Only

FAA A, CHT D

[Option ID = 10372]

Which of the following iz considered as the highest scale 1n measurement’

]

g9 1 T 9 Heforiaa § 9 fom 919t =1 3=909 994 99 9] 27

[Question ID = 2594][Question Description = 109_00_General_21_SEPT22_Q09]
Npminal

1.

2.

3.

4.

ATHF

[Option ID = 10373]
Ordinal

FH-TaF

[Option ID = 10374]
Interval

Heddled

[Option ID = 10375]

Ratio

kRl

o |



[Option ID = 10376]

) In which of the following methods of teaching. the student has to find out the answer to
his/her own problem by unaided efforts?

fr=fafian 5 & sraame & g agfa 5 om 51 B 5 ge2mm & A =] gr & A9 99 5 S
THT TEd 2 7

[Question ID = 2595][Question Description = 110_00_General_21_SEPT22_Q10]

1 Case-study method

T (FE) -

[Option ID = 10377]

2. Heuristic method

[Option ID = 10378]
3. Fhpped classroom method

aftataa (ffees) em wgfa

[Option ID = 10379]
4. Demonstration method

L
REEI qui 1
[Option ID = 10380]

6) A systematic review of literature adopts

aifere &1 gematedn T § fefatan 5 9 fFan i i sm 27

[Question ID = 2596][Question Description = 111_00_General_21_SEPT22_Q11]
1. Explicit procedures

D 2 -f' ﬁ;-:

[Option ID = 10381]
z. Implicit procedures

~ e

fafed s=goTieTa

[Option ID = 10382]
3. Personal-choice procedures

[Option ID = 10383]
4. Peer-suggested procedures

HHFA - FHTE]

[Option ID = 10384]



7) A major focus In guantitative reseavch is on

HIATHS

[Question |

o ity

I § T BIFE Mg § 9 6 WA et

D = 2597][Question Description = 112_00_General_21_SEPT22_Q12]

1. Historicity

-

<, r_‘i £
[Option ID = 10385]
2. Causality
ai [ .
[Option ID = 10386]
3. Social reflections
[ a = [l
HHT=E \ﬁj]‘-‘-lﬂ"i

[Option ID = 10387]
4. Creating an artificial environment

[Option ID = 10388]

8)

(A)
(B)
(C)
(48}
(E)

Which of the following are useful tips in preparing guestions for a structured interview?

Introductory guestions should be related to pleasantries.
Introductory questions should be related to the research topic.
Questions can be grouped. if the list of questions 1s long.
General questions should precede specific questions.

Repeat the personal questions again and again to test the truthfulness of the reponses
of the interewee.

Choose the correct ansiwer from the options given helow :

iy 5 i

HTf=T |IEATCFT & o1 Y99 G40 94 § He=ieingd § 9 @A 9 d 8 7

(A)
(B)
(©)
(D)
(E)
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[Question

ID = 2598][Question Description = 113_00_General_21_SEPT22_Q13]

1. A B COnly

A, B, C



[Option ID = 10389]
2. A C.DOnly

FaAA.C.D

[Option ID = 10390]

3. B, C.DOnly

99 B, C.D

[Option ID = 10391]

4 A D.EOnly

1.

Fad A D. E

[Option ID = 10392]

9 Which of the following are types of error in survey research?
(A) Sample error
(B) Source error
(C) Ohservational error
(D) Data collection errvor
(E) Data processing error

Choose the correct answer from the options given below :
feferfiga 4 9 =5 9 3fen maam wmE § 2 2 7
(&)  wfte 32
(B) @M IR

() SEEEE A
(D) =@ EEm A

(E) =@ w3

fou o fasredi § & T8 3 7 wAe it

[Question ID = 2599][Question Description = 114_00_General_21_SEPT22_Q14]
A.B. C Only

Fa4 A.B. C

[Option ID = 10393]

2. B.C.DOnly

3.

4.

3@ B. C. D
[Option ID = 10394]
B.D.E Only
%97 B, D. E

[Option ID = 10395]
A D. E Only



F99A.D. E

[Option ID = 10396]

1 i
0 Given below are two statements :

Statement I :  Often gqualitative studies provide too many details of the setting that are
investigated.

Statement IT :  Crities point out that gualitative research suffers from the 1zsue of
replication.

In the light of the above statements. choose the éorrect answer from the options given helow

-~

= 71 e feu nu E .

FOA [ RS SIS SR e TR 9 @ wieEe @ e st e vEe w2

FgA [1: = 4 sfm fFn 2 fF e g et 6 owen 3 o 2

I U AT °, A9 70 7 fGwmeT 8§ w9 39 F) =59 Hia

[Question ID = 2600][Question Description = 115_00_General_21_SEPT22_Q15]

1. Both Statement I and Statement IT ave tiue

Fo 1 SR II =1 99 &

[Option ID = 10397]
2. Both Statement I and Statement I1 are falze

F99 [ S 11 =M1 “aea 2

[Option ID = 10398]
3. Statement I is true but Statement II 1= false

99 1577 2, oo #9591l F97 7

[Option ID = 10399]
4. Statement [1is false but Statement IT is true

F99 1 35eg 2, il %99 11 &g 2

[Option ID = 10400]



11 . . . . . _ :
) In communication, a high order of inference drawn from experience, direct or indirect, 1=

responsible for

[T Y - Y

FEMY  SE A e T d S99 8 el Uk 3= e ) sEia Sefotan § 8 fege fou s
7

e

5

[Question ID = 2601][Question Description = 116_00_General_21_SEPT22_Q16]

1. Generalization

AT
[Option ID = 10401]
Simplification

-

EE B ]|

[Option ID = 10402]
3. Abstraction

[Option ID = 10403]
4. Strong reaction

T = ﬁ ™~
[Option ID = 10404]

12) In which context. the true effects of mass media communication on mass audience can be

under stood?

Tt ¥ feg wed | 91y e & TEN & SATE AT 59 S U w9l TS S a9 5 BT 8 7

[Question ID = 2602][Question Description = 117_00_General_21_SEPT22_Q17]

- Economic

[Option ID = 10405]

2 Social

AHETTF

[Option ID = 10406]
3. Political

[Option ID = 10407]
4. Spiritual

[Option ID = 10408]



13 . . . . .
) When 1t comes fo knowledge-shanmng. the important aspects of communication are :

{A) The supply side

(B) The demand side

(C) The policy currents

(D) The push and pull of policy makers
(E) The choice of filters

Choose the correct answer from the options given below :
Eog. = e =
WA ST AT AT WA 2 A AR o HEea Ul 94 A

(A) =79 TE

(B) = U4

(€)  iE e
(D) it EmS F1 9F H@E maE
(Ey  Toezr-fawe

o U Tredl § ° O I 97 949 Sitan

[Question ID = 2603][Question Description = 118_00_General_21_SEPT22_Q18]
. A B.COnly

Faa A. B, C

[Option ID = 10409]
2. B. .0 DOnly

F49 B, C.D

[Option ID = 10410]
3. C.D.EOnly

Faa C. D. E

[Option ID = 10411]
4 A D EOnly

FFA A D. E

[Option ID = 10412]



14 .
) iven below are two statements :

Statement T :  Communication and socialisation are two non-convergent dimensions of

any modern society,

Statement 1T : Communication enables the promotion of values that faeilitate the

process of enculturisation of people 1In a society.
In the lizght of the above statements. choose the correct answer from the options given helow :

S

= =1 e R o .

FAT L HEMET S FEEE G i e # A -aten o 2

FUF I1: T 3 HeAl &1 NEHTET o4 § 95H FAa] 8, A GHE H S0 % SR 6l T @
TTH FAT 2
I FUA & A H, A 50 0 e § # HE 39 6 =4 i

[Question ID = 2604][Question Description = 119_00_General_21_SEPT22_Q19]

1. Both Statement T and Statement 1T are true

Fyq 1 37 1L 2F] 979 2

[Option ID = 10413]

2. Both Statement I and Statement IT are falze

[Option ID = 10414]
3. Statement I1s true but Statement IT is false

Ty I T 2, Sifehd 99 11 #9e9 7

[Option ID = 10415]
4. Statement Iis false but Statement II 1= trae

™

FuH I AGeH 2., olfad &9 [ 8c9 &

[Option ID = 10416]



15)
Given below are two statements : One is labelled as Asserticn A and the other is:Iabelled as

Reason R.
Assertion (4):  Commumnication has the power to persuade, inform and disinform,
Reasons (R) : The process of propaganda makes the Dhine of distinetion transparent

between its elements for being persuasive.

In the hight of the above statements, choose the correect answer from the options given

below:

 maSlIE e

F= =1 YA fou T 2 ;U AHEed (Assertion (A)) F ¥ H fafigd 2 @1 gH0 39F FH0 (Reasons (R))

ATFST (A) - TEmEY H v 3w, g0 S S e g9 51 S I B 2
F (R) SAfayEn (W) @ ulE fAYe 1 - e Aeadenes ael # s

TREI =T 2

SULITh YA o AT §, A 160 U Hewedl § o gaf 3T % 949 wifay

[Question ID = 2605][Question Description = 120_00_General_21_SEPT22_Q20]

- Both A and R are true and R is the correct explanation of A

(A) $1 (R) 5H @7 2 AT (R), (A) F1 T8 == 2
[Option ID = 10417]
2. Both A and R are true but R is NOT the correct explanation of A
(A) 31 (R) ZH1 @ed 2, ofed (R), (A) 1 @dt = 75 2

[Option ID = 10418]
3. A= true but R is falze

(A) Te 2, A (R) #8092

[Option ID = 10419]
4. Ajis false but R is trae

(A) #EeI 2, Siieq (R) &9 2

[Option ID = 10420]

16) There are three numbers in the ratio of 3:5:7 and the sum of these numbers 1z 975. Find the

three numhbers,



o TSl 1 AT SHA 3:5:7 2 S 39 Fel A0 075 B F diF @ S =] 2 7

[Question ID = 2606][Question Description = 121_00_General_21_SEPT22_Q21]
1. 195. 325. 455
[Option ID = 10421]
2. 325,195, 455
[Option ID = 10422]
3. 145, 310470
[Option ID = 10423]
4. 205, 315, 455

[Option ID = 10424]

17 , ) . — . .
) The simple intevest accrued on a sum of certain principal 1= Bs. 1200 in 4 years at the rate of

8% per annum. What would be the simple interest acerued on thrice of that principle at the

rate of 6% per annum in 3 years?
8% 1 AME 2 F 4 WA W A qEEE W 1200 ¥ CAGEN = F T 7 §HG Z01 30 A F o
A T 6% “h1 I o H 3 WS § haeT WO =S 36 2 ¢

[Question ID = 2607][Question Description = 122_00_General_21_SEPT22_Q22]

1. 9150
[Option ID = 10425]
2. 9060

[Option ID = 10426]
3. 2025

[Option ID = 10427]
4. 2100

[Option ID = 10428]

18)  Find the next term in the following sertes: 1.2.4. 6. 7. 18. 10. 54. 7

Feferiian Jaen 3 e us # 2: 1.2.4.6. 7. 18, 10. 54, ?

[Question ID = 2608][Question Description = 123_00_General_21_SEPT22_Q23]

1. 162

[Option ID = 10429]
2 13

[Option ID = 10430]
3. G4

[Option ID = 10431]
4. 79

[Option ID = 10432]

19) . . . . .
In a certain coding language, 1f 'CRICKET is coded as 2632470, "ROCEET 1s coded as

612479, and 'KETTLE' is coded as 479907, then how LOCKER’ shall be coded in that

langauge?



af; ol %2 W § "CRICKET #1 %2 2632479 2, ROCKET %1 2 612479 2, 3 ‘KETTLE #i
%2 479907 2, 79 38 991 § ‘LOCKER' &1 %2 %41 #11?

[Question ID = 2609][Question Description = 124_00_General_21_SEPT22_Q24]

1 102674
[Option ID = 10433]
2. 021647
[Option ID = 10434]
3 120764
[Option ID = 10435]
4. 012476

[Option ID = 10436]

20) On allowing two succeszive discounts of 20% and 15%. the selling price of an article becomes

Rs. 3060, What is the marked price of the article?

Tt == % T gea o0 20% @i 15% i 71 I G2 oF T SHF (954 g79 . 3060 7 S 2| 3|
TEq FT SfRT T T 22

[Question ID = 2610][Question Description = 125_00_General_21_SEPT22_Q25]

1. 4000

[Option ID = 10437]
2. 4100

[Option ID = 10438]
3. 4900

[Option ID = 10439]
4. 4500

[Option ID = 10440]

21)
If 'some men are vegetarians' 1s given as false. which of the following can be inferred to be
true from it?

(A) All imen are végetarians,

(B) No men are vegetarians.

(C) Some men are not vegetarians.
(D} ATl non-vegetarians are men.

Choose the correct answer from the options given below :

Il “Fo S ATRERT £ TeE B9 8 {5 T # a1 Feienae 8 ° B Aed sAnae T S gl 7Y
(B) = i BT I AR 7

(C) 3 TT=A WA TE 2

(D) = -IEEEE T A

oo T AT © 5 T I = A




[Question ID = 2611][Question Description = 126_00_General_21_SEPT22_Q26]
1. A Band C Only
Fad A Ba C
[Option ID = 10441]
2. B.CandD Only
Faet B, C 5t D
[Option ID = 10442]

3. BandCOnly
a9+ B 3 C
[Option ID = 10443]

4. C Only
e C

[Option ID = 10444]

22 ; x 7 i > .
) For which of the following forms of categorical propositions conversion is valid?

(A) Some S1= P

(B) Some S 1= not P
(C) NoSi=P

(D) AllSi1sP

Choose the correct answer from the options given below :

T AT F e TE | ° e uiEe 3 20
(A Fm 'S P EEE

® Fm 'S P ETAE

(C) s P FF R

(D) =49 'S P Em

fou 7w faem ® 6 WA T 1 == A

[Question ID = 2612][Question Description = 127_00_General_21_SEPT22_Q27]
' A B.C.D Only

a5 A.B.C.D

[Option ID = 10445]
2. A CandD Only

FAAA CHRE D
[Option ID = 10446]
3. B,CandD Only
F=5 B, CAR D

[Option ID = 10447]
4 A BandD Only



Faa A. B3 D

[Option ID = 10448]

23)

Depending on the intention which of the following logical mnformal fallacies may be mvelved
in the following argument — T am shocked to hear you preaching atheism. Does vour father
know you believe that?

(A)  Appeal to authority

(B)  Appeal to emotion

(Cy  Appeal to majority

(D) Appeal to force

Choosze the correct answer from the options given helow :

AT T AT HEETEd § | FE ° A SATRNE 21 g a9 5 5iaiEd 7 a9 27

AT T 3959 F YA B Eaed | 1 S19F 9A1 95 A A T 98 35 99 A7

{A)
B
(Cy
(D)

g ATE

W AT B o R 590 9 =99 A

[Question ID = 2613][Question Description = 128_00_General_21_SEPT22_Q28]
1. Aand D Only

Faa A#RD

[Option ID = 10449]
2. Aand B Only

Fa9 A 5T B

[Option ID = 10450]
3. BandD Only

F49 B &7 D

[Option ID = 10451]

4.

B and C Only

Fa= B w51 C

[Option ID = 10452]



24 .
) iven below are two statements :

Statement 1 :  In svartha Anumana (inference for oneself) we do not require a formal
statement of the different members of inference, according to Nyava

view of inferernce.

Statement 11 :  Svartha Anumana i1s a psychological process.

In the light of the above statements. choose the correct answer from the options given below

[

E b e i e B0

TR L IEAR F AW W OF AT A 9ENE T 7 SHAE R T o F sfimenid wes A

= o R
AF7AHRAl =] 7l &

FoA I1: T ST TR T A

A FAA F ST 1, 4 5 e § A aeE I S 6 96 S

[Question ID = 2614][Question Description = 129_00_General_21_SEPT22_Q29]

1.

2.

3.

4.

Both Statement I and Statement II are correct
F94 T 50 o 981 &

[Option ID = 10453]

Both Statement I and Statement I are ineorrect

[Option ID = 10454]

Statement I is-correet but Statement I is incorrect

Fo 1 B 2, =i 94 I e =

[Option ID = 10455]

Statement [ is incorreet but Statement II 1s correct

Foq 17994 &, @A F94 [LH7 7

[Option ID = 10456]



25 ;
) Given below are two statements :

Statement I : Anstotehan svllogism 1s essentially verbalistic,
Statement IT - Nyaya system recognizes the fact that the verbal form is the essence of
inference,

In the hight of the above statements. choose the most appropriate answer from the options

ziven helow :

TE A FAE T TWE

FA 1 AR AEEE g TieeE 7 A

Fod IL: =T TS 39 799 T 5] TEE Al 7 1 O =9 S9AE H A A

IWE T F AW 5, 99 50 T GEed 3 A TEE 300 I 6 =9 i

[Question ID = 2615][Question Description = 130_00_General_21_SEPT22_Q30]

- Both Statement I and Statement II are correct

w1 7 oA o9 7
[Option ID = 10457]
2. PBoth Statement I'and Statement II are incorrect
o [ 51 I 5[ 74 =

[Option ID = 10458]
3. Btatement I1s correct but Statement IT is incorrect

oo r e o e 1 o e oo o I [ T
[Option ID = 10459]

4. Statement I1s Incorrect but Statement IT 1= correct

F94 1 T4 7. = F94 [ A8
[Option ID = 10460]

26) Miss Reena has been appointed by the Cyber Security Cell of Mumbai to break into the
website of a terrorist organization to extract information. What among the following 1= a

suitable deseription of Reena's profile?

TEE F A A TRE 7 UH AEAT 5eA Hadl g1 e o o, S JeEEe § g9iE 7 e
i 1 Tl 1 21 91 e 0 e 5 | R w0 e e 27

[Question ID = 2616][Question Description = 131_00_General_21_SEPT22_Q31]
1. Haetivist



[Option ID = 10461]
2. Fthical Hacker

[Option ID = 10462]
3. Troller

;.

[Option ID = 10463]
4. Black hat hacker

[Option ID = 10464]

27 ;
) Given below are two statements :
Statement I : 8 megabytes = 212 gigabytes
Statement II :  The decimal eguivalent of the binary number (11101.101)2 15 (29.625)10.

In the Iight of the above statements. choose the correct answer from the options given below :
EIERAG e R
FeA I 8 HTERe = 2B AT
T I1:  To=e T (11101.101), 71 S9H=" G001 (29.625),, 71

T FEE F AT A, 91 B W e O 8 w8 5w = i

[Question ID = 2617][Question Description = 132_00_General_21_SEPT22_Q32]
1. Both Statement I and Statement IT are true

[Option ID = 10465]
2. Both Statement I and Statement II are false

w1 5 [ =F a5 7

[Option ID = 10466]
3. Statement Iis true but Statement II is false

2 1979 2, <irea 594 11 si9eg 2

[Option ID = 10467]

4. Statement I is false but Statement II is true
T [ 55 7, @9 94 Do 2

[Option ID = 10468]



28 . i
) Which of the following statements are correct?

Principal components of a CPU in a computer include:

(A) The Solid State Drive (S88D) that storez data perristently. typically using flash
MIEmory.

(B)  The Anthmetic-Logic Unit (ALT) that performs arithmetic and logic operations.

(<) Processor registers that supply operands to the ALU and stores the results of ALU
operation.

(Il The Control Unit (CU) that orchestrates the fetching (from memory). decoding and
execution of instructions,

Choose the correct answer from the options given helow :
FrefetEs @ 9 %9 ° F99 991 5 7
FAZ F | N F UHE A § o A
(A o = T ew w1 TET S A ST 9w A 2 5nd (THuEd)
(B)  FHTIOHIE § R T B AR T T (T )
(C)  © U g T AISA T A HIT T U g T ORGSR Fe S e ey

(D) (i A) =0, T A S92 & FE e TR A v ()

L Ll e e | = B B s L B e 1 0k

[Question ID = 2618][Question Description = 133_00_General_21_SEPT22_Q33]
1. A Band C Only

Fad A BHTC

[Option ID = 10469]
2. B, CandD Only

Fa5 B. C s D

[Option ID = 10470]
3. Band C Only

FaA B #57 C

[Option ID = 10471]
4 AandD Only

Fad A @D
[Option ID = 10472]

2 ; g ;
%) Which of the following statements ave correct regarding VoL TE?

{A) VoLTE stands for Voice over Long Term Evalution'.
(B) It is a digital packet voice service delivery over IP via an LTE aceess network.
(T Provides more efficient use of spectrum than traditional voice,

(D) Ehminates the need to have volce on one network and data on ancther network.

Choose the correct answer from the options given below :



A F H9g H FEiEEd A 8 w0 9 w0 5E 2 7
(A)  HterediEs g0 =9 ¢ CSEE S A 28 e

ﬁ

(B) T T UeTAlE ST AZah % ANU SE 01 W (Sieee g% aEd ated tsiea A

(C) == WA T i g9 O PI9EE W SIS FI STEE TEE A A

70 T faFedl 5 | Hel T = AR

[Question ID = 2619][Question Description = 134_00_General_21_SEPT22_Q34]
. A B. CandD Only

FaF A B.CEHED

[Option ID = 10473]
2. B.CandD Only

a5 B, C 57 D
[Option ID = 10474]
3. A BandC Only
FaA A, Baw C

[Option ID = 10475]
4 A CandD Only

FaA A CHRD
[Option ID = 10476]

30 What 1= the concept of International Net Neutrality?

ATILTE 2 (FaEa] 1 Tl 41 7

[Question ID = 2620][Question Description = 135_00_General_21_SEPT22_Q35]

- Imposed limitations for end-to-end Internet access

T R W TE T A s Atge o st aieeea

[Option ID = 10477]
2. Broadband service providers can show preference to content

L A i M e 2 e 700%1 e C  n] A  e ez E ed
[Option ID = 10478]

3. Unimpeded end. to-end Internet access and uzage
v T T TE (AT q S e e AT A

[Option ID = 10479]
4. All content that flows throughout the Internet should not be freated equally.

o e e e (2 i | L e o M e B o e - e = B 1 8 o | Y

[Option ID = 10480]



31 ;
) Given below are two statements :

Statement I :  All patential pallutants are synthetic chemicals.

Many of the emerging contaminants have been observed to

bioaccumulate in wildlife and humans.

Statement II
In the light of the above statements, choose the correct answer from the options given below :

9 FE L E
FoA IL: A0 39 FTR A A FE A AANOT AT H FT-HArm w6 e A

T FUA F AR 9, A 0 T e 5 O HE 3 R =9 A

[Question ID = 2621][Question Description = 136_00_General_21_SEPT22_Q36]
1. Both Statement I and Statement IT are true

[Option ID = 10481]
2. Both Statement I and Statement IT ave false

9 1 3w I 5F] 39 7

[Option ID = 10482]
3. Btatement I iz true but Statement II is false

FoA 1974 2, o 94 [ w05 7

[Option ID = 10483]
4. Siatement I is false but Statement IT 1= true

F44 1 51503 7, 79 0 LA 7

[Option ID = 10484]
32) i : ;
Typhod fever. a water born disease 1= caused by

AT (ZIEHIES) UF Sei—AMd 10 2 H 95 | 951 7l 2 -

[Question ID = 2622][Question Description = 137_00_General_21_SEPT22_Q37]

1. Virus
Tamm (=)
[Option ID = 10485]
2. PBacteria
aﬁ r!! I

[Option ID = 10486]

Protozoan
[Option ID = 10487]
4. Helmunth

i

=4



[Option ID = 10488]

33) Given below are two statements ;
Statement I :  Increasingly. photovoltaic panels are being used to supplement electrical
energy from the power grid.
Statement II :  One 1ssue with grd-connected photovoltaics is that PV cells produce
Alternating Current (AC) whereas powergrids use Divect Current (DC)
In the light of the above statements, choose the correct answer from the options given below :
R B o g e 1
FoA1:  uE O F fEn S W w9 # F 9 TEe-aEE 92 F I9EE SeA o 5 2
Fo I s B 9= 790 9eE 350 % W4 UF G051 97 ¢ 06 o gedmEatgm (Ta) 3o e A
FEPE S-S TR g (SUHL ) T I e 2
I FAA B HETE 9, 99 5T e | 9 wE 3 6 w9 A

[Question ID = 2623][Question Description = 138_00_General_21_SEPT22_Q38]
1. Both Statenmient I and Statement II ave corvect

[Option ID = 10489]
2. Both Statement T and Statement IT are incorrect

oA 137 I 5F e 2

[Option ID = 10490]

3. Statement I is correct but Statement IT is incorrect

Fe[H 1 O7 2, & 99 7o 2

[Option ID = 10491]
4. Btatement Iis in correct but Statement IT iz correct

F49 1774 B, 90T %R [ ad &

[Option ID = 10492]

34)
Given below are two statements : One 1= 1abelled as Assertion A and the other 1= Iabelled as
Reason R.
Assertion (A) : Chlorofluoracarbons (CFCs) are potent greenhouse gases,
Reaszons (R) : CFCs have the ability to catalytically destroy ozone in stratosphere.

In the light of the above statements. choose the most appropriate answer from the options

given helow :



I = FEH WU E  UF 999 (Assertion (A)) F FI T @ 7 7 T 30F FA0 (Reasons (R))

FEIH ;
AR (A) FATIFATT a8 (H1.7%, H0 ) 76 T=emsE 11 7
= (R) : .o Hi T | FEaTEEE | S F ISR T A T2 F A w2

STTE B F AW 5, 49 50 00 e § | 598 39 I 6 w9 e

[Question ID = 2624][Question Description = 139_00_General_21_SEPT22_Q39]

. Both (A) and (R) are correct and (R) iz the correct explanation of (A)

A 37 R=M1 &9 & 3R R, A I &= ==ame 7
[Option ID = 10493]

2. Both {A) and (R) are correct but (R)is NOT the correct explanation of (A)

A #1 R =0 581 2, At R, A1 978 = 9 2
[Option ID = 10494]

3. (A) iz correct but (R) is not correct

ATE 2, w9 R A8 74 7
[Option ID = 10495]
{A) 15 not correct but (R) 1s correct
ATfaF 2, A Roa =

[Option ID = 10496]

33) Global warming can lead to/aggravate which of the followimg natural disasters?

(&) Draught

(B) Earthguake
() Flood

(D) Storm

Choose the correct answer from the options ziven below :
TeferEa B | FE H T 9, YEsed 91 9ieas O ° 3994/ e T 7 AEal 2
(A)  TmE

(B) 9w
(C) =g

D)  qFH

oo T faFTl 8 | =59 3 W 99 Fan

[Question ID = 2625][Question Description = 140_00_General_21_SEPT22_Q40]
1. A B COnly

Fa7 A B. C

[Option ID = 10497]



2. A C.DOnly

Faa A C.D

[Option ID = 10498]
3. B.C.DOnly

FTAB.C.D

[Option ID = 10499]
4. B, D Only

FT9B. D
[Option ID = 10500]

36) In India. much of the Central Government expenditure on general higher education is routed
through

EE © WE 3= 19T T OEE G e R R = R 5T O RmT R Y
[Question ID = 2626][Question Description = 141_00_General_21_SEPT22_Q41]

" Natural Council of Teacher Education.

e S A e
[Option ID = 10501]
2. All India Couneil for Technical education
[Option ID = 10502]
3. University Grants Commission
[Option ID = 10503]
4. National Council for Educational Research and Training.

[Option ID = 10504]

37) According to current estimate. the gross envolment ratio in Higher Education in India is
around 27%, which iz expected to be increased to...........hy the end of 2035.

AR FIAA F AGE W, T G WS A g S 27% B e 2035 F 5= T
[Question ID = 2627][Question Description = 142_00_General_21_SEPT22_Q42]
- 30%
[Option ID = 10505]
2 40%
[Option ID = 10506]
3 50%
[Option ID = 10507]
4. 60%

[Option ID = 10508]



38) Given below are two statements :

Statement I : In India increasing access to higher education has been constrained by

low completion rates at secondary education stage.

Statement II : By 2080, all multidisciplinary higher education institutions will be

closed down.
In the light of the above statements, choose the correct answer from the options given below :
4= 7 FuE G

FoF [: HEA H = W 9% TES H Sel WS e 6w W e 9w o e s

=
ml =l

Fod I0: 9 2030 7 @Y1 SEfeas 3= 0 e e T

[Question ID = 2628][Question Description = 143_00_General_21_SEPT22_Q43]
1. Both Statement [ and Statement I are true
a7 [ 51w I1 591 &ed 7
[Option ID = 10509]
2. Both Statement [ and Statement II ave false

[Option ID = 10510]
3. Btatement Iis true but Statement IT is false

[Option ID = 10511]
4. Btatement [ 1z false but Statement IT iz true
F9a 1 37073 2, =i e 11 o0 2

[Option ID = 10512]

39
) Broad parameters adopted by National Institutional Ranking Framework (NIRF) are

(&) Teaching. learning and Resources
(B) Graduation outcomes

(C) Outreach and Inclusivity

(D) Peer perception

(E) Low Carbon footprint

Choose the most appropriate answer from the options given below :



T HETEE i = (NIRF) g A9 70 =09 Hiasi 8 A B
(Ay  I1eAgE. afam & amas

(B) A = F AT

(C) wEW A gEE

(D) =FFal 1 anon

(E) 4= =4 w58

Ton T fwel © 1§ 98 I W =9 A

[Question ID = 2629][Question Description = 144_00_General_21_SEPT22_Q44]
. A B.C.DOnly

9 A B.C.D

[Option ID = 10513]
2. A B.D,E Only

Fa7 A B.D.E

[Option ID = 10514]
3. B.C.D.EOnly

a4 B.C.D. E

[Option ID = 10515]
4 A C.D.EOnly

Fa9 A, C. D, E
[Option ID = 10516]

40) Which University in India was first to throw all University examinations open to girls?

YEA % FSfenEd 3§ hE EvEEEerd 4 Ysdll af oqSrRdl # 00 [EvarEaeg Hi 24 9iem e s
7

[Question ID = 2630][Question Description = 145_00_General_21_SEPT22_Q45]
1. Punjab University

[Option ID = 10517]
2. (Caleutta University

FAFHAT [T

[Option ID = 10518]
3. Savitribal Phule University

e r B b ©
HIEEEE T iEIJa IR

[Option ID = 10519]
Bombay University

4.

[Option ID = 10520]



Topic:- GP_29SEPT22_SH2_S1_C

1)

Read the following passage and answer gquestions from guestions 46 to 50

The conceptions and treatment of poverty were gquite different before 1940, In colonial times
the concern with poverty was conditioned by the helief that even if the natives could be
somewhat enlightened by the presenece of the coloniser. not much could be done about theiwr
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv, the hasis for economic progress was seen as nil. However. within
Asian, African and Latin or Native American societies. vernacular societiez had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that maszsive poverty in the modern sense appeared only when the
spread of market economy broke down the communities, As a result. 1t deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic izzues hecame inevitable.

It 12 mmpertant to know the break that cccurred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe. and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of svstems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthropy occcupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modernization

of poverty invariably affected vernacular relations.

FelEEa T gl A1 uTE = 46-50 F I A

T 1940 T TEe FEAA7 HER RO AT {S90=E 950 990 TEE F 2| SANEEeTE w9 FHeaE F 0
A= o fEm A vaiEa d R S sl 9o # geeanie 4TS "R S -aeT S
UTE, I YA &AW H OS] EY A AT S 2Tl UHT SET A1 T S ANGE T
el o) sl wle % aw =EE S TR % S § G F1 SEa w9 991 S
3| T2 TS 2 9 sl o 5 sAatEene W Ee 9 39 o S - Fien WeEe 3 el Hi
foa-Tag =0 =) TRomEA: $EA FAS] AT W N, WA HE AW qEradl H e S T s
W T HRR T F Y ST T Aol S i 21 | g gt anmedt 3 v

T v fa=gs 1 F9A meE 7, TR @was A F H YAAR F I WE 5 S Swad aeeg A
AT g | T F AR F W B YA fa=an W avE SdmEl T 3 JeA F me == # o
e eyt e e 2o e i o 2 0 B £ 1t £ o e B | B o = o R e o s 1 B2
TFO B AEREE F OF TEAT T4E 2| [ F WA W A 6 S T TR IR w5
1| I F SEAE T AR EY RS9 W O

Before 1940. colonisers believed that poor countries

T 1940 H T5e SAAEETEA 1 =vamE ar = e g

[Question ID = 2631][Question Description = 146_00_General_21_SEPT22_Q46]

1.

Can he changed

e o T 2]

[Option ID = 10521]

2. Can be totally enlightened
A SFHET S A AT 2
[Option ID = 10522]
3.

Cannot be changed



4. Do not need their presence
=& [ i T Y e o [
SHFATTETZAT =hl 9414 ?ﬁl HETFHRAT A7 7|
[Option ID = 10524]
2)

T2l wnel A Gl R

[Option ID = 10523]

Read the following passage and answer questions from guestions 46 to 20

The conceptions and treatment of poverty were guite different before 1940, In colonial times
the concern with poverty was conditioned by the bhelief that even if the natives could bhe
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular societies had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that maszsive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic 1ssues became inevitable.

It 1= impertant to know the break that occurred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe, and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy cccupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modermsation

of poverty invariably affected vernacular relations.

M TeTiEE TN gigd HIT U HE 46-50 % 39 20

T 1940 T e FdAW T 9n $F EEEs w9 TEE F 9| S9REnTE Fe 9 Heaa F 0
AT $9 AW R OUHEA H TR SUEERE i S 0 A geEies w ATST S TS S
U, I A AR H S Ew AA AT 1 HEaT] UHT SElAT A1 FAIE 39 ANAE TR
e 1| ST e F AT A A T & g ¥ G i e I e A

7| 7= T= 2 T AT 991 8 A= Hae e a9 391 96 S - Fiew AU § ggnEl
foa-Tag =7 =) aienmEa: $EA FAS] AP W ONE, W S 3 qEieAl H GG #9151 Sren-

AT F GERE F O SR T el T, A w1 | A T e 37 g
T 0 fa=sm F T S R, TR 9=9n A T AEn F 35 A9 5N S Sadt wess
AT g | T F AT F W g1 9E 9w W avE el amre § WA § W SaEn & e
= SHETUTET R 359 T RO A1 E A A T 5E1 TEE S S SEET 9 e 971 50
FFON T AROEE F UF TEeA T4E 2| FHEA % HEEdt W A 8 =9 & e aiems w5

o) A1 F AR T O S H SO AT R T

The Vernacular societies encountered economic poverty with

=TS TETST | SF T I e mean o e

[Question ID = 2632][Question Description = 147_00_General_21_SEPT22_Q47]

1.

Selence and technology



4.

3)

ERIER e T
[Option ID = 10525]
External aid

G »:’i EEEL]

[Option ID = 10526]
Modern ideas

\_ﬂ_[r' rr

[Option ID = 10527]
Use of resources sparingly

FHATE F A=A ST

[Option ID = 10528]

Read the following passage and answer gquestions from guestions 46 to 20

The conceptions and treatment of poverty were guite different before 1940, In colonial times
the concern with poverty was conditioned by the behef that even if the natives could be
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because thelr economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular sociefles had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic izsues became inevitable.

It 1= 1mportant to know the break that cccwrred in the conceptions and management of
‘poverty first with the emergence of capitalism in Europe, and later with the advent of
development in the Third world. The first break is described in terms of the advent in the
nineteenth century of svstems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy cccupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modermsation
of poverty invariably affected vernacular relations.

eTlEtEa T gl A9 uTE = 46-50 F I 2|

T 1940 F e FdAW T 9nO SR EEE w5y e TEE F 9] S9REErs e 9 {ea o 0
A 56 A § e A R SeeaeEl 1 st 9 A geEareE ATt 9Ed S-S0 w0
UG, I YA F AN # S EW TA THAT 91 =Tl U7 SElAT A1 P S ANAE T e
R 21| AT A F AW ESE S G Aeed 5 GAeana fi and w6 I T 6 )

9| FE TE 2 TF s o 5 sAataene FaAa Fae a9 390 96 S - Fieon WEsEed § gEeEl #i
fom—Tiasr +7 =) 9fomEa: $EF ST SR W Y, S S0 S GEEHl 9 dfad w0 e s -

AT F G F O S T Al T A w1 | A T e 7 T
T w0 fasEs F T S R, TR 99 A T H AEn F 35 A9 5N S Swant mwes
=t g F foFm % AvTE W 5| Tee (e F AvE SHEel el 8 HEA § WY == & e
= ST F 359 T TR S E A HaAnhE S 5E1 TR SH S S SEEeT T e 91 55
FFE B ATROEE F UF FEA T4E 2| [OA % HEEal WE |0 6 S O R 9 w5

91| LA T SRR T FEE EY H S JeEl B aEEs




The market economy was responsible for

[Question ID = 2633][Question Description = 148_00_General_21_SEPT22_Q48]

1.

2.

3.

4.

4)

Increased access to resources

[Option ID = 10529]
Massive poverty
AT FEE

[Option ID = 10530]
Enlightened development

[Option ID = 10531]
Idealisation of tradition

B TR=rE B ) =1 71 =

[Option ID = 10532]

Read the following passage and answer questions from questions 46 to 30

The conceptions and treatment of poverty were guite different before 1940, In colomial times
the concern with poverty was conditioned by the helief that even if the natives could be
somewhat enlichtened by the presence of the coloniser. not much could be done about their
poverty. It was because thelr economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular societiez had developed
wayvs of defining and treating poverty that accommodated visions of commumity. frugality.
and sufficiency. It 15 true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities, As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic 1zsues became inevitable.

It 1= 1mportant to know the break that occwrred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe, and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthropy occupiled an important place in this transtion. The
transformation of the poor into the assisted had a profound consequence. The modernigation
of poverty invariably affected vernacular relations,
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Capitalistie development introduced the idea of
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1. Modernised poverty
SR E AT
[Option ID = 10533]

Impersonal institutions
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[Option ID = 10534]
3. Third world

e v

[Option ID = 10535]
4. Vernacular relations

[Option ID = 10536]



5)

Read the following passage and answer questions from guestions 46 to 20

The conceptions and treatment of poverty were guite different before 1940, In colonial times
the concern with poverty was conditioned by the bhelief that even if the natives could bhe
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular societies had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that maszsive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic 1ssues became inevitable.

It 1= impertant to know the break that occurred in the conceptions and management of
‘poverty first with the emergence of capitalism in Europe, and later with the advent of
development in the Third world. The first break is described in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy cccupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modermsation

of poverty invariably affected vernacular relations.
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The paszage focuzesd on
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1.

2.

The merits of market economy
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The need for philanthropy to reduce poverty
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[Option ID = 10538]
The ill-effects of capitaliam



[Option ID = 10539]
4. The issue of redefining poverty in the Third World.
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